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1. REUSEE (B : ySv/h)
No. AIE IS AT 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
1 2FL EYERT 0.090 — — 0.090 0.090 0.090 0.090 0.080 — — 0.090 0.090 0.090 0.090 0.090 — — 0.090 0.090 0.090 0.090 0.080 — — 0.090 0.090 0.090 0.090 0.090 — —
2 2FL R—IL 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.080 0.080 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
3 2FL EVELER 0.070 — — 0.060 0.060 0.060 0.060 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.070 0.070 — —
4 2FL BEHMA 0.070 — — 0.070 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.070 0.070 0.070 — —
5 2FL ML BIERK 0.070 — — 0.070 0.070 0.070 0.060 0.060 — — 0.060 0.070 0.070 0.060 0.070 — — 0.070 0.070 0.070 0.060 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
6 1FL BT BIFERT 0.050 — — 0.050 0.050 0.050 0.050 0.050 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
7 1FL hALBLER 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.070 0.070 — — 0.060 0.070 0.070 0.070 0.070 — — 0.060 0.070 0.070 0.070 0.070 — —
8 1FL M EEEESE 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.080 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
9 3FL EVELER 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.070 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
10 [3FL AL BIR® 0.070 — — 0.060 0.060 0.060 0.070 0.070 — — 0.060 0.070 0.070 0.070 0.060 — — 0.060 0.060 0.070 0.060 0.060 — — 0.060 0.060 0.070 0.070 0.070 — —
11 [4FL EVATBE 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.070 0.060 — — 0.060 0.060 0.060 0.060 0.070 — — 0.060 0.070 0.070 0.070 0.060 — —
12 |[4FL FLBIRE 0.060 — — 0.070 0.070 0.070 0.070 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.060 0.060 — —
13 [5FL EVAIRE 0.060 — — 0.060 0.060 0.070 0.070 0.060 — — 0.050 0.070 0.070 0.060 0.050 — — 0.050 0.050 0.050 0.060 0.070 — — 0.070 0.060 0.060 0.060 0.060 — —
14 |5FL ML BTR® 0.060 — — 0.060 0.050 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
15 [6FL EVAIRE 0.060 — — 0.050 0.050 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.050 0.050 0.050 — — 0.060 0.060 0.060 0.060 0.060 — —
16 |6FL ML BIEHK 0.060 — — 0.050 0.050 0.050 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.050 — —
17 [7FL EVAIBE 0.060 — — 0.060 0.070 0.070 0.070 0.070 — — 0.070 0.060 0.060 0.060 0.050 — — 0.050 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.070 0.060 0.060 — —
18 |7FL FALBIRE 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
19 [8FL HHEHHE 0.090 — — 0.10 0.10 0.10 0.10 0.10 — — 0.10 0.10 0.090 0.10 0.090 — — 0.090 0.090 0.090 0.090 0.090 — — 0.090 0.090 0.10 0.090 0.090 — —
20 |8FL EE 0.090 — — 0.090 0.090 0.10 0.090 0.090 — — 0.090 0.10 0.10 0.10 0.090 — — 0.090 0.090 0.10 0.10 0.10 — — 0.10 0.10 0.10 0.10 0.10 — —
21 1FL Fyosz)L8— 0.15 — — 0.15 0.15 0.14 0.15 0.15 — — 0.15 0.16 0.16 0.15 0.14 — — 0.14 0.14 0.14 0.14 0.15 — — 0.15 0.15 0.14 0.15 0.15 — —

2. AZ7HE (BAL : Bacm?)
No. SAIE S5 P 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
1 2FL EYERT <2.1E-01 — — | <2.1E-01]<2.1E-01[ <2.1E-01] <2.1E-01 [ <2.1E-01 — — [ <2.1E-01]<2.1E-01[ <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — — | <2.1E-01] <2.1E-01[ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
2 2FL R—IL <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — —
3 2FL EVELER <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —
4 2FL BEHA| <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 | <2.1E-01 — —
5 2FL ML BIERK <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —
6 1FL B ERFEAIFEAT <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 | <2.1E-01 — —
7 1FL hALBLERE <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —
8 1FL MR EEEEE <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — —
9 3FL EVELER <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —
10 [SFL AL EI@E <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 | <2.1E-01 — —
11 [4FL EVATER <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
12 |4FL ML BIEE <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
13 [5FL EVATEE <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
14 |5FL AL BI@K <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
15 [6FL EVATEE <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
16 |6FL kAL BIEE <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
17 [7FL EVAIEE <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
18 |7FL ML BIRE <2.1E-01 — — [ <2.1E-01]<2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
19 [8FL HHEHHWE <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
20 |[8FL A& <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
21 1FL Fyosz)L8— <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 — —  [<2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 [ <2.1E-01 — — | <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — — [ <2.1E-01] <2.1E-01[ <2.1E-01] <2.1E-01 | <2.1E-01 — —

3

3. BEtEMERE (B : Ba/cm”)
No. BIE ST 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
1 1FL @0 <3.9E-06 — — | <3.9E-06 | <3.9E-06 | <3.9E-06 | <3.9E-06 | <3.9E-06] — — | <3.9E-06| <3.9E-06 | <3.9E-06 | <3.9E-06 | <3.9E-06| — — [ <3.9E-06| <3.9E-06 | <3.9E-06 | <3.9E-06| <3.9E-06| — — | <3.9E-06| <3.9E-06 | <3.9E-06 | <3.9E-06 | <3.9E-06| — —
2 1FL EEO <3.9E-06 — — [ <3.9E-06] <3.9E-06 | <3.9E-06 | <3.9E-06] <3.9E-06| — — | <3.9E-06| <3.9E-06| <3.9E-06 | <3.9E-06 | <3.9E-06| — — | <3.9E-06 | <3.9E-06 | <3.9E-06 | <3.9E-06 | <3.9E-06| — — | <3.9E-06 | <3.9E-06 [ <3.9E-06 | <3.9E-06 | <3.9E-06| — —

=

4. REHRE (B mSv)
No. B E IS T 12878 [ 128148|128218[128288 No. JAIRE 35 P 12878 [128148|128218| 128288
1 1FL EEH(BF) 0.010 0.010 0.010 0.010 20 |5FL mmO B K) 0.009 0.009 0.009 0.009
2 1FL BAOGEEVRTLE) 0.012 0.012 0.012 0.011 21 S5FL JbfEl (IREEE) 0.008 0.009 0.009 0.008
3 1FL b0 (WBCE) 0.011 0.012 0.011 0.011 22 |5FL FRI(IREE) 0.011 0.011 0.011 0.011
4 1FL @O (ETF) 0.008 0.008 0.008 0.008 23 |5FL mafll GEE FEVAD) 0.010 0.011 0.011 0.010
5 1FL FEfAl (JEE FEVAD) 0.009 0.009 0.009 0.009 24 |6FL EEHO(BRT) 0.009 0.009 0.009 0.009
6 2FL HEEO (EBTF) 0.010 0.010 0.010 0.010 25 |6FL bl (IREEE) 0.008 0.008 0.008 0.008
7 2FL dLEI(BE) 0.011 0.011 0.011 0.011 26 [6FL PRI (IREE) 0.011 0.012 0.012 0.011
8 2FL AEI(RE) 0.012 0.012 0.012 0.012 27 |6FL mafll GEEFAEVAD) 0.010 0.011 0.011 0.010
9 2FL mfAl GEE FAEVED) 0.011 0.011 0.011 0.011 28 |7FL EEHO(BRT) 0.009 0.010 0.010 0.010
10 |2FL GEYERTF 3l 0.011 0.012 0.011 0.011 29 [7FL REBE=E 0.014 0.015 0.014 0.015
11 [2FL BYERT FEfl 0.011 0.011 0.011 0.011 30 |7FL JLBIUAREE) 0.009 0.010 0.009 0.009
12 |3FL FEEHO(BT) 0.009 0.009 0.009 0.009 31 |7FL maRI(REE) 0.011 0.011 0.011 0.011
13 [3FL JEfEl 0.011 0.011 0.012 0.011 32 |7FL mAIGEERAEVED 0.013 0.013 0.013 0.013
14 [3FL 7afEl 0.012 0.012 0.011 0.011 33 |SFL mmH 0.012 0.012 0.012 0.012
15 |3FL mafl (GEEFHEVED 0.009 0.009 0.009 0.009 34 |SFL Jtfil 0.016 0.016 0.016 0.016
16 [4FL FEEO(BBTF) 0.009 0.009 0.009 0.009 35 |8FL PFafl 0.012 0.012 0.012 0.012
17 |4FL JbIUAER=) 0.008 0.008 0.009 0.008 36 |SFL Fafl 0.016 0.015 0.015 0.015
18 |4FL #aEI(AREE) 0.011 0.011 0.011 0.011 37__|1FL Fy5ozL3—@fl 0.022 0.023 0.023 0.023
19 [4FL EAIGEEHAEVED 0.011 0.011 0.011 0.011 38 [1FL Fy&x)L5—3tfl 0.022 0.023 0.022 0.022




